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Remember: if there are 7 lots of 3 in 21, then as 210 is 10 times bigger than 21, there must be 10 times more 3s. 

21 ÷ 7 = 3  (3 x 7 = 21);

210 ÷ 7 = 30 (30 x 7 = 210)


----------------------------------------------------------------------------------

Write these calculations in your books and make sure you also carry out the multiplication calculation as a check for your answers. 

240 ÷ 8 = 

640 ÷ 8 = 

180 ÷ 9 =

150 ÷ 5 = 

150 ÷ 3 = 

240 ÷ 3 =

240 ÷ 6 =

350 ÷ 7 =

450 ÷ 9 =

630 ÷ 7 = 

500 ÷ 5 = 

250 ÷ 5 =

270 ÷ 9 =

330 ÷ 11 =

360 ÷ 12 =

390 ÷ 13 =

560 ÷ 8 = 

630 ÷ 9 = 

360 ÷ 6 =

490 ÷ 7 =

810 ÷ 9 = 

100 ÷ 10 =

280 ÷ 7 =

420 ÷ 6 =

700 ÷ 10 = 

320 ÷ 8 =

480 ÷ 6 =

540 ÷ 9 =

720 ÷ 8 =

180 ÷ 3 =

160 ÷ 4 =

200 ÷ 5 = 

